Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a palent, utiity model or design. ( ISO 16016 )

1 2 3 4 5 6 9 10 | 11 12 | 13 14 15 16
671 fg,z
A 1 0020] A A
Al—
|| J\-— -
| Rotor
B HH B
f L
| ._ /17*7 /@ |
C - ! =+ C\l : A C
® 188 ; b S g
4x90° E .
0 68 ¢ |9 0,25 |D
¢ 6097 @
D D
! ¢ 6097 @ Stator
B J <
zi S BN h%
| AL. ' Z | | o |
| | : 4x90 BLE |
i | - _ | |9 025 |E = 4x90° v
2 - " ®
E ™ \ | /1 01| A ¢ 180 H7 , .
j ﬂ ©| 9 01|A
— 710,02 | A
Ringmutter 7 ? 186
— Id-NF. 33666911 MO0 1 —
7
¢7/70+02 E < pr2s @
- - 0,020] A
D i 4 /
F p180H7 (E) F
z Rotor
©)| 201 |A |
i
G G
3 fi |
M N
O !
m
H I H
Anziehdrehmoment der Ringmutter : 25-5Nm Tightening torque of ring nut : 25-5Nm
J A| = Lagerdrehachse der Kundenwelle (Ratar) Bearing axis of customer's shaft - .
N 4x90° @45
) (K) - Kundenseitige Anschlussmafie Required mating dimensions [0 025 [E 4x90°
E /1 0015 A= &[0 025 |D >
B = Anziehdrehmoment der Zylinderschrauben M4 Tightening torque of the hexagon 9 66 ]
fur den rdckwartigen Anbau: 2,4:0,2N head cap screws M4 for mounting
Schraube 1S04762-A2-M4 on the face side: 2,4:0,2Nm ® 180 H7 @
Scheibe 1S07092-4-200HV-A?Z Screw 1S04762-A2-M4 ©| 9 01|A > :
: Washer 1S07092-4-200HV-A2 :
<) . . . . ® 188
@ = Anziehdrehmoment der Zylinderschrauben M5: 5:0,2Nm Tightening forque of the hexagon socked head cap screw M5: 5:0,2Nm
| Schraube 1S04762-A2-M5 Screw 1504762-A2-M5 -
Scheibe 1S07092-5-200HV-A2 Scheibe 1S07092-5-200HV-A2
RON 7xx/8xx, RCN 7xx/8xx Anbaumafle und Toleranzen nach Anschlussmafizeichnung
@ @ = Schraubensicherung erforderlich Screw locking necessary RON 7xx/8xx, RCN 7xx/8xx Mounting dimensions and tolerances as per dimension drawing
L L
@ = Toleranzangabe beinhaltet Montagetoleranzen Tolerance specification includes folerances Anbauvorschlag fir kappenseitige Wellenbefestigung
und fhermische Ausdehnung, and fhermal expansion. Mounting proposal for shaft fastening at housing exit Drmber
Keine dynamische Bewegung zuldssig. No dynamic movement permitted Chonge No. — C0%730-05
— Phase: erie
Original drawing Tolerierung nach DIN 1SO 8015
@ @ _ Anbauméglichke”en MOLIang DDHOHS Dﬁﬁ Scale Fomat | RON 7xx/8xx RCN 7xx/8xx RPN 886 Toler?nces as per DIN ISC18015
i mm 11| AT [Anschlussmafie Gerars oacress 150 2766-n4 some - 02
The reproduction, distribution and utiization of this document as well as the communication of its contents to others without express authorization is prohibited.
M

11

12

HEIDENHAIN

DR.JOHANNES HEIDENHAIN GmbH
83301 Traunreut, Germany

| Version |Revision |Sheet

D 362335 -13-A -02

Document number



